1.(a)
1.(b)
1.(c)

1.(d)

1.(e)

/2.(3)

@US ‘A’ SECTION ‘A’

PRt st 3 & s g w150 3 i

Answer the following in about 150 words each :

Y& S SR et et & g 3 e fodve A |

Distinguish between Net Profit and Cash from Operating Activities. FMa
%TW@W%WWW'%? .\b‘xou“*-\
What are the various components of cost of fixed assets ? iy Sﬂ\ﬂd :
S T sk o § wh ¥ e e o |
Distinguish between cost control and cost reduction. Cosfi V\af 19

'“"q.ﬁﬂﬁaﬁaﬁﬁmsﬁtm(gﬁmﬁmm)%mmﬁ
TEE & qvi ifvn | B

State the provision of law relating’te ‘Carry forward and set off of business loss. 10

ST T W dEr ghev aar wes i fady forgeit | =R
FCN F79 fadwa i | D -

Discuss the special points’ that can~auditer'would take into consideration while
auditing the accounts(of'a banking conipary. 10

sz fofhaes 9 o, g st o Bad 2,00,000 S 7 91 ofy 9 10 =
weae ftafea = w

-ﬂm’u'l{’

AEET & 9HG D) T ufg 9
HEEA F T —  F59fF IR
(22, difrm. & @)
Teell A W —  T3ufa IR
(7= ¥ 3 Afed 91])
Ffem AR ) —  39fd X
(vt w1 % 3 Afed A1)
23 30 & 3,27,000 3 & fow smegs @@ f R 30 3 9 =9 g=R I
| Tafe
= R e
(i) f srefe o

R FEfed —  1,60,000
AEfea = 2,000
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T41,000 F1 TF3 sreE B e af| fE (41,000 ¥ F amdeat
ﬁmﬁgma@%mmmmwﬁaﬂmlmm@aﬁ%
bl

dftm T @I W & 15 @R & T o) fern @ AR 16 T@E=w @
A & 799 R R g fon T |
mm%%maﬁa(maﬁ)uﬁﬁ!ﬁ?ﬁﬁﬂﬁmwml

10 each on the

o8 RelOumiivg

7 Ltd issued a prospectus offering 2,00,000 equity shares of ¥

following terms : \
s Fatu e

On application == %] per share \,:ks)

u

On allotment — %5 per share ( hreco

(including premium of ¥2)

On first call — %3 per share

(3 months after allotment)

On final call — %3 per share

(3 months after first call)

Application money was received for 3,27;000 shares on 23rd April and
made on 30th April was as under

—_——

allotment

Shares allotted

(i) Allotment in full E 38,000
(ii) Allotment of % of shates applied-for  —*/1,60,000 W
2,000 b

(iii) Allotment of 1 of-shares applied for~ |~
. ), )
Cash amounting'yd &%41,000 1,00%%;5 applied for upon which no allotment
was made) . rmed icantf’»f; with. The amounts due were received on
due dates except with \% final %ﬂ Wese shares were forfeited on
15th November a@s ued tgé}on the 16th on payment of ¥9 pee-share.

You are requirt give the necessary journal entries (without narratives). 20

Qzﬁﬁrﬁéamz’ta:gsﬁmmaﬁﬁélﬁwﬁ@ & 1,00,000
g a3 # frefafa @ma S @ = i

, (%)
ygE at - ¥
Taq I - S
ofasdt Fram I —  69@
@R Framr R — 59|

o o 77 g9 T2 R | R G @ AR & T ar € @ i fRR wrarn
S9Rerm 1 @af B g 99 fRufd # ¥2 @@ @ FW 9 S |
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i m@azwm,am%zmm@ﬁ“m”m

')' LU .
: ﬁa gferd, FAF it ? .
(i) mw@égémmﬁ:ﬁ?qgﬁm’«ﬁ

o wadt & @ T foofar BT |
incurred for proccssing 1.00,000 units

s auto parts. The

(F in lakhs) U)g’c\ ‘ ‘& (,oss(" ‘I%’

1.50,000 R R W &

costs

A B Ltd manufacture
as follows :

of a component are

Direct material s 5 V\M\A
Direct labour e 8
Variable factory overhead — 6
Fixed factory overhead — 5 ‘
overhead would continue to
re would be

ent is ¥22. The fixed

t is boughf-from outside although the

rchase price of the compon

The pu
the componen

be incurred even if

a reduction of 2.00,000.
h the present facility released remains

Required :
(i) Should the part be made or boughtwhe
idle in the event ofipurchase ? @nd
(i) If the released papacity €an’/ be (Shted out to another company for
Z1,50,000, what-would be_the decision ? 15
2.(c) aﬁvﬁwﬁaaﬁmlmﬁuﬁ%mﬁs frara T Afswe gla
o g 8, e ¢ = 7
Define perquisite. How: are ent free a ' ' ili
2 Ay ccommodfg\); and medical facility valuleg
3.(a) Y%m%ﬂéﬁag‘emﬁm% I ITH
_ | ot g wwfeEn e ®
e gl & faerR TR ?: 5 2 "
wafe (1)  wwk (1)
L3 54
ftfen ‘
wffire AT — 120,000 1,15,000
arfifer sfera fercran — 1,50,000 .75
,75,000
o I zﬁ: Iﬁfﬁ;l = 1,00,000 1,65,000
frao S 31.3.2009
.y - - - 3 31.3.2009
A % <R Rt 6 aed & o 4 o

ferg g R W AT
= 55,000
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mﬁ'w-g'% T
SNSRI R s "

3.(b)

3.(c)

nmf%fnmmaﬁﬁmelmfalaﬂazm%wﬁnw%

mﬁmﬁv&wﬂ%ﬁqaﬁz

ya fak

(i) T feg T Fand |
the houses. The particulars

¥ has two houses in Chennai. He has self-occupied both
of the houses are as follows : ok
House (I) House (II)
4 4
Municipal value per year € 1,20.000 1,15.000
Fair rent per annum — },.50:000 1,75,000
Standard rent per year — 1,00,000 1,65,000
Date of completion of construction -— 31.3.2009 31.3.2009
— 12% 8%

Municipal taxes payable durihg“fhe year

et for repa¥e
prrenlear

Nil 55,000

[nterest on amount boro,
of both the houses during the ¢

¥ has paid the munic;ipal taﬁ?‘ Hos L only. It is due
the year.

house property i‘ﬁcomgﬁ
oP

Advice : )
(1) Which hm@should be opted by Y to be assessed as self-occupied ? and
(i) State the reasons for it.

for House L Compute the

20

ﬁmma@%?mﬁmé@e’m’?%?

amw /afema (PAV) FIE
w-ﬁﬁﬁWﬁgﬁﬁwﬁmW%’
p/V ratio ? How is it computed 7 W

What do you mean by
(osbing (mh%iwd) 15

analysis ?
mmmqawmﬁmmmm%?mmﬁm&mﬁrﬁ%
g war fefia fsar =T 8, WE $ifs |

2 State how are the) treated

and abnormal wastage -
I5

What is meant by normal wastage
(,z&‘mﬁ ('\’ww&)

in process costing.

"hat are its uses in BEP
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4.(a) F9s fafies R 31.03.20X1 7% K gon Fraforfad &

3
2000 $fFdt 9, wfd 9 100  — 2,00,000
1000, 6% RO, WAs T 100 2 1,00,000
FUYA T AT SHET A 12,000
RS AIGR = 50,000
gl uikgafaa o 2,00,000
EIC IR E| B 65,000
T aR|atat & g - 1,06,000
EIGREGEIEIRC e G o C — 48,000

frmfofea s ® oof geafs @ = f =g o

() T D 5 A W I9-Rei e T AR 90% FRt  AEE (W)
foram wmam | ‘

(ii)wmhﬁ%ﬁaﬁﬁmﬁaoooﬁmwaﬁtsﬁ%q%% ;
$20,000 ¥ S AW (W AR F A)oh smeifea R T |

(iii) AR ST T B 230,000/ I WA g¢ Fres § R B W W
F A SRS W LAY W T e T |

(iv) ﬁﬂ%ﬂﬁaﬁzﬁg{ﬁﬁmwmmwmﬁg,mﬁﬁmﬂml

AT F g s savad S (e edt) wifEEt dUR wAl R |

The following information‘relafes to Cloud Ltd as on 31.03.20X1 :

<
2000 Equity, shares of.100.each - 2,00,000 kﬁﬁ%‘“& ""\

1000 6% Debentures of ¥100-each — 1,00,000

_t Interest on Debenture outstanding — 12,000
Trade Creditors == 50,000

Fixed Assets — 2,00,000

Current Assets — 65,000

Fixed Assets revalued at — 1,06,000

Current Assets revalued at — 48,000

The following scheme was duly agreed and approved by the court :
(i) The shares were sub-divided into shares of ¥5 each and 90 per cent of tf
shares were surrendered.

(ii) The total claims of debenture holders were reduced to 59,000 and ¥
consideration of this, they were also allotted shares (out of surrende

shares) amounting to ¥20,000.

URC-U-COMA 6



uce their claims to ¥30,000, 1 of which was

greed to red
hares out of those surrendered.

tors
(i) The oredi quity

4 by issue of €
g surrende ered b
0 draft the neces
aﬁmﬁ@m@%ﬁrﬁw#&hﬁﬁ%ﬂ'ﬁﬁql (‘p%)t{u%
divisional performance

y discuss the 1mpo Rqs O\I\v\\o%ﬂ T%ouvxi‘t\fa«)

%?a@amwﬁ%agﬁ%am SATHIST T

satisfie :
issued were cancelled.

ut not re-

i) The shar® . :
(iv) sary journal entries for the reconstruction. 20

You are required ¢

rtant methods of measuring

4.(c)
gt fem mT ?
What is divisible profit ? How could an auditor ensure that the dividend is not paid
out of capital ? A\ADU% j 57

Qs ‘B’ SECTION ¢B’

5, ﬁmﬁﬁawﬁﬁﬁ%mmwwwosmﬁﬁaﬁﬁm:
Answer the following in aboit. 150 words-each ;

5.(a) ﬁéﬂﬂ%ﬂ?wﬁﬁmﬁmaﬁﬁmaﬁ?sﬂm%mﬁm@rﬁﬁmr

o if swmEfh s By v it | £m UW“( 6 C‘D\“{ml

".‘Explam Gordon’s share valuation miodel and state in which case dividend policy is P,l “,a\
10

irrelevant under this model.
. 5 Wﬁ%ﬁmwﬁaﬁ%méﬁaﬁam (wm)@ﬁ%\am
iF
g fM o3 wel
- B“Jad‘a

Discuss the Decision-Tree approach for evaluating risky investments.

{1 40 éﬁ-ﬁtﬁaﬁmaﬁt%ﬁmaﬁmﬁ%ﬁﬁm@aﬁ%aﬁt@
| (4 & C-Hs
quity and cost of debt, which one is lower and why ? M CGQ ;

Out of cost of €

5 Wﬂﬁﬁum@%aﬁﬁ#@qﬁﬁ%ﬂaﬁﬁql
:c(okS\-wx)

Briefly explain the components of Indian financial system.

S.(e : : :
) mﬁmwﬁaﬁqﬁu}aﬁmmﬁ‘ﬁ%ﬁmaﬁw|1(m‘n
Enumerate the methods of issue of securities in the priinary mz;ket. \Wy'

10
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a{a)

D >
T Rl ¥ v Ay ware o v ¥

w Ay wure (2)
0 () 1,00,000
1 40,000
2 50,000
3 40,000

™ W 10% R

TR ) W e @ sy (8w diag)
(i) Y& s g (e W Ay
(i) W ¥ s s o @ ol (Redfs Y-Aw diae)
(iv) smwwew @ (Wi /@)

The expected cash flows of a project are as follows: 0 ‘

Year Cash ﬂom\'iffs ﬁ
0 - O OS¢
1 — 40,000 1@
2 _ 50,0005
3 — 20,000

The cost of capita}i_i\‘ IO per_&alt D;%

N )
q{
|

% \ 4 %

\ @

(iii} SicoupNesgback pesiod
: t“,) Profitability Index 20
e B ﬁmmmmmgmm%mmaa@m
3 s @ WE R, wE €| - (;;; wovﬁmy CIN?“("‘Q> 3
Explain how with managerial intervention balance iy maintained within ‘

limits using Miller and Orr model. 15

frefiy squRt @ TRl AR @ TR g A
(i) TReTRE R TRE (IR N QY
(mﬁﬁq‘ﬁa@wm(mﬁ\‘hﬂ
(i) A W wRves (R R Y

6.(c)
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7.(a)

Define and compare the fallowing ratios F"‘ (09\. &“%55

(1) Retum on Assels (ROA)

(i) Return on Capital Fmployed (ROCE)
(i) Return on [quity (ROK) .
frfut it & 9 afefiufiad 1 ot 11 i @ fife dynd A B s
oy AP 4

(i) STRTEA iy o A

iy forefi i fir Wl

(iff) wgen el ) ATl

’ {;: S 4\_:“’::‘
@ N
faredn 40,000 ) Ca*

vfvadi e 48,000 C}@

TR 4 O 6

fome faefva s
B e
dm B O 10,000 Qv
Calculate degreo of* she 1 PYRN AV
(i) operating levershe- g o oo

(iiy financial leverage
(iiiy combined leverage
from the following data under situations | and 11 and financial plans A and B

¥
Sales 90,000
Variable cost 45,000
Fixed operating costs :
Situation | 15,000
Situation [l 20,000
Fixed financial costs :
Plan A 20,000
Plan B 10,000 20
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fy @ & aibie

doe wil) aid ™

v fafde s yen sl
. Aviffla wiwd aues B
far s b @ ) Refafen a8 (¥ 00000)

: a ';‘il’iig 'ﬁ‘ 'W‘H.?q ]

M v A 0

ffad) fadl &) wen (st #)
dt /4 sgan

"

1t

"1
(i) v fafiRe sk aif e & dud W Wi 4= |

(i) vww fafde g and fafivee = g{yw gl glm . Ty wudl
i) Raa & @ g fafes z};fjﬁg.;;' @‘;q, don |
ket price

of shares. The follow ung-\,l,u'ei: are poable 27 \ lowy
c Y o oM (o%. Meraﬂxs 2 haquls )

(@ "O0000)

N\ Ltd is contemplating (akﬂlg.\;"»ca_v\.::‘lf,;[i'!\ gaue of shares basad on n

T TN
| » | »
1gpes Yin lakhs) s f

o s

Find :
(i) Market price of shares of X Ltd and Y Lid
(i) Number of shares to be issued by X Lid for taking over Y Lud

(1) Number of equity shares of X Lid after merger.

5

%ﬂwﬁiwtﬁﬁmuﬁﬁqmiﬁmﬁmmamw
Sl F1s (CapiéaQ manket)

What are the powers vested with the | protect iHerest
15
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B.c)

ﬂiﬂ m R T 30 R e ) '
o TR A1 4 10 0 1 N i
08 b i .y

A i M o gt 60 o i b oy
& (s Pl e s o oftow wy i | Bl G e "y B
2% ® g |

ute sl gl & W O W il | e B P e
wd 0 300 T W |

Zenith Corportion proyides 30 days eredit 1o its ustomars 1 present level of sules

[ €80 lakhs. The firm’s eost of capital is 10 per cent wid the rello of variable susts

to sules is 085, cim (o v e Cq{;‘w

Zenith is considering extension of eredit [m& o) d.%}u:h i eam;an s
¥

likely to push sales up by ¥ 5 lukhs The t Py sales wouild riae fom

| por cent © 2 por cent AN 6@
Evaluate impaet of extension of gppm @VIM Ignors lax and sesne
360 days 8 year { 6&‘)\ %8 0
& 82 M
@mtmﬁ:&m\@!ﬂ)@am&ﬁm
@d@ﬁw”ﬁ @mhmﬂmtmaaqm h
" 1 wn QN g 4% ¥ 7 {0 Sk
£ (05 G ™ oy

Explain NOI (Net ng lm@) model of capitsl struchure

per vent. What would be its overall co

Aﬁm‘swﬂof ‘tyumtevuuculs v

ofupiuluwp«wulgwm:m)lmxkl?
mﬁ#‘tmmms’ﬁqmﬂﬁ‘tzmmmm; oo
mmmmﬁdmﬁﬁl‘u

_ amwm?swmmﬂmmmm;mw
by CARE (cwmmwwm FM(FMMQQQ COW
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